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SsdAL 1,580,227 1,590,59% 210,369
=4 267,000 267,000 0

T 1,313,227 1,323,596 210,369

HYRAAH(SSEHSHTA)(IIEHIIE 307,575 317,944 210,369
I 2| 254,055 264,424 210,369
SRRAAUAHIXZ 52,680 55,680 23,000

101 1A H 24,960 26,520 21,560
012 24,960 26,520 21,560
OF AU S AHI 24,960 26,520 21,560

204 A2 =HH| 27,720 29,160 21,440

02 g & 27,720 29,160 1,440

O A 17,160 18,600 21,440
SSEEANEHT 201,375 208,744 27,369

101 el ZH] 201,375 208,744 27,369

03 RIHA2ZRE =+ 201,375 208,744 AT,369
OMNGERA 201,375 208,744 27,369
OARIRIZ R4+ 641 2,3% A1,715
Ogxtrs+g 5,026 10,680 25,654
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